MaLu nxaac 4 ux

MeTs cypryynb 0395p33 TOM TOOHYYAblH SPTHUA HIpWAWMAr 3aanraxas. Xuwass Hb Opoc xanHuin "tma" ("maw nx")
F9CaH YT MSIHFbIH TOOT Miapxuinax 6on, "tma tmyschaya" ("Maw uxaac 4 nx") racaH yr 6ac casibiH TOOr HIpPI3Aar.

MeTs 9H3 YrHYYOWAr OpYMH YeuiiH BONroX eepunexuiir xyccaH 6a k Ttoor unapxwuiinax petricium, k2 Toor

nnapxumnax petricium la petricium, k3 Toor wunspxunnax petricium la petricium la petricium rax M3TYMNIHIWAH
YrHYYAOWAr H33X ONOB.

Niim masiraap Hapnax GONOMXTOW TOOHYYAbIr petriciumus cifera rax 6a YraHg OpPCOH la-TWiAH TOOr "WATrary" rax
HapN3B.

MeTarnitH wuHa H33NT smap Har /| Toor petriciumus cifera Gaignaap Hapnax 60M0X 3CHXUIAr  TOLOPXOMIOX

acyypantam Hyyp Tynxaa. leta maw 3aBryw cypary yypaac TYYHL 9HS acyynTbir aBToMatXyynax Xaparuas
rapxsa. TyyHA TycanHa yy.

Input
OXxHWi MepeHn, k Too. LapaaruitH mepeHn / 100 baliHa. (2 < k, /< 231—).

Output

Xapsaa / Toor petriciumus cifera xanbapasp Hapnax 6onox 6on "YES" yryi 6on "NO" rax axHWA MOPEHL X3BNIHS.
X3pBaa ToOr amXxunTTar HapnacaH 6on fapaarwiiH MepeHs, | TOOHbI UATF M YUAT XIBIIHI.

Example

Input 1:

5
25

Output 1:

YES

Input 2:

3
8

Output 2:

NO
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